4 PEAKTRONICS MK T-158

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM Bray S70-008, -012, -020, -030, -050, -065, -708, -712, -720 Actuators

NOTE: Remount existing terminal
strip using screws "G". POT WASHER

G—mm(y M

(=

STANDARD —

CONTROLLER
POT HEX NUT

stip 1| POT LOCKWASHER s@
>

< Use screws provided
with ADM-100C.

[k
% ADM-100C

TRANSMITTER

wd T

POT
WASHER ‘

=

FEEDBACK
POTENTIOMETER

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

800-149E  pagel



MKT-158

ASSEMBLY DIAGRAM Bray S70-008, -012, -020, -030, -050, -065, -708, -712, -720 Actuators

NOTE: Remount existing terminal
strip using screws "G".

POT WASHER

()

POT HEX NUT
MINIATURE \
CONTROLLER POT LOCKWASHER \@
TRANSMITTER
F
E E

POT
WASHER ‘

=

FEEDBACK
POTENTIOMETER

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-149E  page 2




MKT-158

ITEM

—IOTMmMmOOm>

not shown
not shown
not shown
not shown
not shown
not shown
not shown
not shown

QTY

~NOWONNNPFPRPRPPFRPORPWPRAONDNREPRE

KIT CONTENTS

F ¥ %
= = -
E F G

I

DESCRIPTION

positioner bracket

potentiometer bracket

0.75" hex spacer

#6-32 x 0.75" pan head screw
#6-32 x 0.375" pan head screw
#6-32 x 0.25" flat head screw

#4-40 x 0.56" socket head cap screw
#6 flat washer

#6 split ring lockwasher
potentiometer gear

10" blue wire

10" red wire

10" yellow wire

10" blue wire with spade terminal

10" red wire with spade terminal

12" yellow wire with spade terminal
butt connector (for red, blue, and yellow motor wires, if required)
6.3" nylontiewrap

www.peaktronics.com

PEAKTRONICS, Inc.

1363 Anderson

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-149E page 3



MKT-158

uolow Jorenide

N3dO
O
0 e
ON a3d @
LINIT3ISO10
@]
o)
ON ERE) O, ® 35010
LINIT NIdO N NAZ
aNnd
v@ @ NOWINOD
a3 JOVAVC
@ J1IHM 10 d3d @ @ N3dO
AOV1d @
O00T-WNaVv
Jofenide Jojow sseyd-111ds DV AYZ
© 91| P9]|01u0d 8¢ 0} JoenIde DAAVZ ©
SMO|e 8INPOIAl DA 01 DV D00T-INAY 8UL
SIoeNoY 0zZ/2- ‘ZT.- '80.- ‘G90- ‘0S0- ‘0£0- ‘020~ ‘ZT0- ‘800-0.S Aeig NVHOVIA ONIFHIM

41NAOW Od 031 DV

g
&)
&
5
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 4

1363 Anderson 800-149E

PEAKTRONICS, Inc.



MKT-158

0 O
= ~ [ NOWWOD AVT3Y
B © 1NO LINv4
© o—(€)
(feuondo) 8NpoIN Aepi/BRILSURIL 00T-H1O0 | S o a0 XY
(feuondo) ajnpo N Jeniwsuel] 00T-X10 1NO 3ISOT0 XNV
@ aAND TVYNOIS
® ndino yw 1 Jojjuow
Joeqpse) | —
........... @- ndino A I+
Ele[iSISEVNe] Fo MOTTIA © IC ® ndino AGT+ *Jayebo] pajosuud
IVANVIN - ON O 8g Ued spunols) 210N
ON © MOT13A @
ndino AG+
d313NWOILN3LOd a3d O O NOLE0 AST % + UC_MW:_W_\_WOU
MOovada33ad ] S |
Z0T-10d JLIHM Ywoe-v
Movd @ @ dNSD TVYNOIS
® ®©
‘Uado pue 850 JO LoITRIgIED LINITESOTO a3y ° ° aNS H1dv3 Q
BuLnp 18s A|[ea1reWolne 4 4
s1 Bunoe aseal 1o Bunde 10011Q HA 04 AN T ;
LINIT N3dO aNnTd @ @ IvdLN3aN 271
'y ar
J0109UU0D 1INQ = &
VOOT-OHA OJOVAVEC
00T-OHA JVALTT
si0eNOY 02/- ‘2T.- '80.- ‘S90- ‘0S0- ‘0€0- ‘020~ ‘ZTO0- ‘800-0/S Aeig ANVHOVIA ONIJIM

SHANOILISOd 1VLI9I1d OV

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 5

1363 Anderson 800-149E

PEAKTRONICS, Inc.



MKT-158

page 6

800-149E

9 O,
“Ia_ NOWINOD AVT13d
5 © 1N0O 11Nv4
o o—(€)
(euondo) aNpPo A Aepy/eniwsuel] 00T-410 ,W = 1N0O N3dO XNV
(feuondo) ajnpo N Jeniwsuel] 00T-X10 ® 1NO 3ISOT0 XNV
@ aAND TVYNOIS
@ indino yw ._ J0yluow
Jeqpes) | —
........... @- ndino A ._ +
=
8
® ndino AGT+ *BUYeb0) PIOBULID %
d313INOILN3LOd 9( Ued Spunols) 10N =
MOovaa33d O a0 AT S
¢0T-10d . 5 M
a3d O O NOT/S-0 ‘AS-T ._ eubs o
+| puewwod [
JLIHM © © Vwoz-y |
MOov4g @ @ dNSD TVYNOIS
z ©® ® ®
Uado pue 8sojo JO LoIRIq 1D m o a3y o o aNS H1YV3 Q
BuLnp 18s A|[ea1reWolne v (¢ 4 4
sI Bunde sskeral Jo Bunde 19811Q = MOTIIA ANIT T ;
o
o ®© ang O, O =varmanza
'y ar

‘Bullim DOOT-INAY 89S "Pa|feIsuUl 8INPON Od 01 DV
D00T- AV Ue Ylim Jorende DAAYZ e sesh uoiedlidde syl 310N

d00T-OHA OJVAVZ

SIORNOY 0Z/- ‘ZTL- ‘80L- 'S90- ‘050~ ‘0£0- ‘020~ ‘ZT0- '800-0LS Aelg
daNOILISOd 1VLI9Id DVAKL

NVHOVIA ONIHIM

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

PEAKTRONICS, Inc.



MKT-158

page 7

800-149E

o) 1)
= =1 NOWWOD AVT13H
5 © 1NO LINv4
(feuondo) ajnpo Aepyseniwstel L prIos| TOT-H10 | 5 O ——TroGa0 xay
(euondo) sinpo iy Jeniwstel ] parejos| TOT-X1O | & —®)
& 1NO 3ISOT10 XNV SO
(-) ywoz-v 4| >ioeqpesy [—
---------H@- (+) ywoz-v
"9-TC WOJJ POIIBULOSIP S Z MS NI ¢MS NI ®
|13un unJ 0} Jojow 8y} SMO|[e pue a3y
annsod Z YOLOIN S®s (A) uonng T MS WIT D) © c
umop 1snfpe au} ‘spow TYNNYI Ul Wo ang 1N0 AG+ 3
'9-TC WOI} PRIJBULOISIP SI T MS NI e ©® C_M_c_w_\_moo S 8
|lUN UNJ 0 JOJOW BY) SMO| e pue z anad NO, (+) ANVININOD +| P — g
mm,_:woﬁ“ T HOLOW Sks (V) uonng =
nsnipe sy 'spow TYNNVIN Ul © a3y
©) ® () ONVININOD *? w
"Uado pue 8s0J0 JO UoIRIqIeD LHM 10 a3y 2 UOLOW - E 2
5 Bunnp s \W__S_umeea " ® e rmvaE 1) W
S| bulde sseAal 10 bullde 13..11g Sova T 9010 @
3 93N 1vg /
= i
mm 3 Movg ® =
- nGa = @ p—
m > B JLIHM +
ON
mx
m a3 © © SOd 1vd SANVZ/ZT
c a
00¥-OHA

SIORNOY 0Z/- ‘ZTL- ‘80L- 'S90- ‘050~ ‘0£0- ‘020~ ‘ZT0- '800-0LS Aelg
ddNOILISOd 1VLI9I1d Od

NVHOVIA ONIHIM

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

PEAKTRONICS, Inc.



MKT-158

ONILOV ISHIAN3IY

d313WOILN31O0d
Movad33d

¢01-10d
Mov4

J1IHM

a3d

uolow Jorenide

N3dO

LINIT N3dO
ON

aNng

T3A 10 M7

ON
LINIT3ISOTO

NOWWOD 3SO10

(Puondo) RNIWSU.] 8J1IM 0]
ONILOV 103d1d HILLINSNYYL | S°!M 20T-10Od SS80xe 35N
_xo<momuu+ AOT/S0 90T-VINX
mm_wmo_@w_n_kmzmm_”_kon_ >@ @ 200 YWwQoeZ- S0T-VIAX
¢0T-10d Jo1uow
a3y +| >edpeey [ —
ALIHM a3
Movd
Mov1d
@ ] ndino Apz+
0y aNo TVYNDIS
vohout lorene ® 1 Grovoa nawo
® (01 0v/0Q) 3S0T10 seubss
O (IH OV) N3do L I
N3dO © (IHOV) 3S010
© NOWWOD N3dO
LINIT3SOT10 @
®
©
@
ar

ON
€
a3 ® aND HLYV3
T13A 10 M1d @ ANIT T
T
ETNE © ECINENER!
LINIT N3dO r

J0108UU0D 1INQ = &

VEOT-INVY OVAPEC
€0T-INVY OVALIT

SIoeNPY 0z/- ‘2T.Z- '80.- ‘G90- ‘0S0- ‘0€0- ‘020~ ‘2T0- ‘800-0.S Aeig

Sd3T104d.LNOD 440/NO OV

NVHOVIA ONIHIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 8

1363 Anderson 800-149E

PEAKTRONICS, Inc.



MKT-158

‘Buliim DO0T-INQY 89S 'Pa|[eIsul 8NPo Al O 0} DV
D00T-INAV Ue yiim Jolenide DAAPZ e sesn uoleoljdde siyL ‘310N

(feuondo) “JBNIwsue] alim 01
ONILOV ISHIATY ONILOV 103MId MALLINSNaLL | 1M 20T-10d 530 38
»oved3d AOT/S0 90T-VINX
Y31IWOILNILOd H31INOILNILO S YW0Z-v SOT-VINX
Yovaa3a4 Sovaa3a4 21%%1%1%)
¢0T-10d ¢0T-10d Jo1uow
SOV g E] | weapse)
=TI =TI a=d
SOV 1g
a3y oV
] ndino AvZ+
aND 1VNDIS
uolow Joreniie uoljow Jorenide AOI_ Q<\UDV N3dO
(0712Vv/0Q) IS0 speubis
I_l |04JU02D

N3dO N3dO

(IH 2V) Nado

(IH 2V) 3SOT1O

NOWWOD N3dO

NOWWOD 3SO10

SO0 O00 0060666 EQ 6

> >

o © anig o ® a3d ® aND H1IYV3

< <

= © MOT13A O MOTT13IA © ENREA

3 S

o ©® a3d o ® anig © IVILN3AN 21
c

acoT-1INV DV APZ

SIoeNPY 0z/- ‘2T.Z- '80.- ‘G90- ‘0S0- ‘0€0- ‘020~ ‘2T0- ‘800-0.S Aeig

Sd3110d1NOD 440/NO OVAFC

NVHOVIA ONIHIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 9

1363 Anderson 800-149E

PEAKTRONICS, Inc.



MKT-158

ONILOV ISHINIA

ONILOV 103d1d

uonow Jorenioe

N3dO

LIWIT N3JO
ON

3N1d

T3A 10 XM1d

=~ a3

LINIT3SOT10

uolow Jorenide

N3dO

LINIT3ISOTO
ON

a3y

) NOWWOD

T3A 10 X479

= 3n1g

LINIT N3dO

J0108UU0D NINQ = &

ano @

(feuondo)

HOLIMS 13534
IVNH3LX3

13s34 )

) Lnd1NO 3010

) LNdLNO N3dO

IVHLNAN O

AN OH+———

0

VO0T-1SV JVAPES
00T-1SV JOVALTT

SIoeNPY 0z/- ‘2T.Z- '80.- ‘G90- ‘0S0- ‘0€0- ‘020~ ‘2T0- ‘800-0.S Aeig

SY3NIL IDONINO3S OV

NVHOVIA ONIHIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 10

800-149E

1363 Anderson

PEAKTRONICS, Inc.



MKT-158

“JeNIWSURI] 211M 01
31 1INSNVYHL | salim 20T-10d Sseox0 asN
ONILOV ISHINTA ONILOV 103dId yOYadIad
NOT/S-0 90T-VIAX
d313NOILNILOd d313NOILNALOd NLM — + YWOZ-¥ SOT-VINX
MOovaa33d MOovadad3d ®®®®®
¢0T-10d ¢0T-10d Jo}uow
AMOVd a3ad -+ Xoeqpssy
JLIHM J1LIHWM a3
AOV4
aad AOov14d
g
® 7
uonow Joeniie uonow Jokenide Indino Ayz+ )
c
© 5
® g
® :
NOT / NS /| YWOZ NOT / NS | YWOZ
@ (-) ano
@ aNS H1dv3
© AN T
@ TvdLlN3aN 271
a

page 11

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-149E

1363 Anderson

Ve0T-dMd DVAPES
20T-dMd OVALTT

SJ0eNPY 02/- ‘2T.- ‘80/- ‘G90- ‘0S0- ‘0€0- ‘020- ‘2T0- ‘800-0/S Aeig
(peemod) SHI 11 IWSNVYYL MOvda33d

NVHOVIA ONIHIM

PEAKTRONICS, Inc.



MKT-158

ONILOV ISHIA3IY

H313NOILN31O0d
Movadadad

¢01-10d

MOV4g

JLIHM

a3y

uolow Joreniae

NOT / NS | YWOZ

RN Iwsuel] alim 0}

UILLINSNVYHL | salim 20T-10d SS90Xe asN
ONILOV 103d1d SO YECEEH
NAOT/G-0 90T-VIANX
Y3 13WOILNTLOd NSL M — + YWwoZ- SOT-VINX
SOvaa3a4 21%]%]%1%]
20T-10d (xew AZg)
a3y + Addns g T—=
JLIHM °
Movg
Jojiuow
+ | >weapse) [—

uofow Jorenioe

NOT / NS | VW02

SIoeNPY 0z/- ‘2T.Z- '80.- ‘G90- ‘0S0- ‘0€0- ‘020- ‘2T0- ‘800-0.S Aeig

(poJjomod Ajeuor®) SYIL1INSNVYL MDOvaa33d

NVHOVIA ONIHIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 12

800-149E

1363 Anderson

PEAKTRONICS, Inc.



MKT-158

LO0T-VINX
YALLINSNVHL

ONILOV ISHINTAH ONILOV 10341d SOVaaa34

Y31IWOILNILOd Y31IWOILNILOd d HM 8- +
Movaa3ad SOvaa3a4 2)%2]%]%) -
20T-10d 20T-10d (xew Ag2) 5
MoV ER +| Addns 5@ | — 8
c
JLIHM JLIHM 2
Jojiuowl w
a3 NeY AL 1| >toegpesy [ — 3

uolnow Joreniae

Yulog

uolow Jorenioe

YwozZ

page 13

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-149E

1363 Anderson

SJ0eNPY 02/- ‘2T.- ‘80/- ‘G90- ‘0S0- ‘0€0- ‘020- ‘2T0- ‘800-0/S Aeig
(poemod doof) Y311 INSNVHL MDOvaa33d

NVHOVIA ONIHIM

PEAKTRONICS, Inc.



